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Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section ‗A‘ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. What do you mean by elements of cost ? Discuss the 

various elements of cost.  

ykxr ds rRoksa ls D;k vfHkizk; gS \ ykxr ds fofHkUu rRoksa 

ij ppkZ dhft,A 

2. Explain ‗FIFO‘ and ‗LIFO‘ methods of pricing of 

material issues. Which of these should be preferred in 

rising and falling prices and why ? 

lkexzh ewY; fu/kkZj.k dh fof/k;k¡ ^fyQks* ¼,y- vkbZ- ,Q- vks-½ 

vkSj ^QhQks* ¼,Q- vkbZ- ,Q- vks-½ dk foLrkjiwoZd o.kZu 

dhft,A ewY;ksa dh fxjkoV vkSj o`f) esa buesa ls fdl fof/k 

dks vf/kekfur fd;k tkuk pkfg, vkSj D;ksa \ 

3. State the circumstances in which time rate system and 

piece rate system of wage payment can be preferred in 

a factory. 

mu ifjfLFkfr;ksa dk fooj.k nhft, ftlesa le;kuqlkj nj ;k 

fQj dk;kZuqlkj nj ls dkj[kkus esa etnwjh Hkqxrku dks 

izkFkfedrk nh tkrh gSA 

4. (a) What is labour turnover ? Discuss the causes of 

labour turnover. What is the impact of high 

labour turnover on the cost of production ? 
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Je vkorZ ls D;k vfHkizk; gS \ Je vkorZ ds dkj.kksa 

ij ppkZ dhft,A mPp Je vkorZ dk mRiknu ykxr 

ij D;k izHkko iM+rk gS \ 

(b) Discuss the overtime premium. State the effects 

of overtime payment on productivity and cost. 

vfrfjDr le; vf/k’kqYd ij ppkZ dhft,A vfrfjDr 

le; Hkqxrku ds mRikndrk rFkk ykxr ij izHkko ij 

ppkZ dhft,A 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section ‗B‘ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only.  

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

1. From the following information that has been obtained 

from the records of G, Ltd. for the period from June 1 

to June 30, 1998 prepare a cost sheet : 

 ` 

Cost of raw materials on June 1, 1998 30,000 

Purchase of raw materials during the month 4,50,000 

Wages paid 2,30,000 
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Factory overheads 92,000 

Cost of work-in-progress on June 1, 1998 12,000 

Cost of raw materials on June 30, 1998 15,000 

Cost of stock of finished goods on June 1, 

1998 60,000 

Cost of stock of finished goods on June 30, 

1998 55,000 

Selling and distribution overheads 20,000 

Sales 9,00,000 

Administration overheads 30,000 

th- fyfeVsM ds vfHkys[kksa ls izkIr fuEuor~ lwpukvksa ds 

vk/kkj ij le;kof/k 1 twu ls ysdj 30 twu] 1998 rd 

ykxr i= rS;kj dhft, % 

  ` 

1 twu] 1998 dks dPps eky dh ykxr 30,000 

eghus esa dPps eky dk Ø; 4,50,000 

etnwjh Hkqxrku 2,30,000 

dkj[kkuk mifjO;; 92,000 

twu 1] 1998 dks v/kZfufeZr mRiknu 12,000 

twu 30] 1998 dks dPps eky dh ykxr 15,000 

twu 1] 1998 dks rS;kj eky ds LdU/k dh dher 60,000 

twu 30] 1998 dks rS;kj oLrqvksa ds LdU/k dh 

dher 55,000 
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foØ; vkSj forj.k mifjO;; 20,000 

foØ; 9,00,000 

iz’kklfud mifjO;; 30,000 

2. What are the objectives of inventory control ? 

LdU/k fu;U=.k ds D;k mís’; gSa \ 

3. Distinguish between direct labour and indirect labour. 

Give four example of Indirect labour that may arise in 

a factory. 

izR;{k Je vkSj vizR;{k Je ds chp vUrj Li”V dhft,A 

dkj[kkus esa gksus okys vizR;{k Je ds dksbZ pkj mnkgj.k 

nhft,A 

4. State the difference between fixed cost and variable 

cost. 

fLFkj ykxr rFkk ifjorZuh; ykxr esa vUrj Li”V dhft,A 

5. Explain the terms escalation clause and cost-plus 

contract in contract costing. 

vuqcU/k ykxr esa fo|eku ‘kCn@in ^o/kZu&mifu;e* rFkk 

^ykxr ls vf/kd vuqcU/k* dh O;k[;k dhft,A 

6. Distinguish between job costing and process  

costing. 

dk;Z ykxr vkSj izfØ;k ykxr esa vUrj Li”V dhft,A 
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7. What is idle time ? Give its treatment in cost  

accounts. 

fuf”Ø; le; D;k gS \ ykxr [kkrs esa bldks dSls ys[kkc) 

djsaxs \ 

8. Discuss the objectives of incentive wage system. 

ikfjrksf”kd etnwjh i)fr ds mís’;ksa ij ppkZ dhft,A 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section ‗C‘ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Indicate whether the following statements are True or False : 

bafxr dhft, fd fuEufyf[kr dFku lR; gSa ;k vlR; % 

1. Cost Accounting is a branch of Financial Accounting.  

     (True/False) 

ykxr ys[kk foŸkh; ys[kk dh ,d ‘kk[kk gSA ¼lR;@vlR;½ 

2. Value analysis helps in cost control. (True/False) 

ewY; fo’ys”k.k ykxr fu;U=.k esa lgk;rk djrk gSA  

    ¼lR;@vlR;½ 
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3. Prime cost means total of factory overhead and direct 

materials cost. (True/False) 

ewy ykxr ls vfHkizk; dkj[kkuk mifjO;; vkSj izR;{k lkexzh 

ykxr ds tksM+ ls gSA   ¼lR;@vlR;½ 

4. Fixed cost per unit remains fixed. (True/False) 

fLFkj ykxr izfr bdkbZ LFkkbZ jgrh gSA ¼lR;@vlR;½ 

5. Economic order quantity is the reorder quantity.  

     (True/False) 

ferO;;h vkns’k ek=k dk vfHkizk; iqu%vkns’k ek=k ls gSA  

    ¼lR;@vlR;½ 

Fill in the blanks : 

fjDr LFkkuksa dh iwfrZ dhft, % 

6. Under .............. system wages are paid according to 

quantity of work done. 
----------------------------

 O;oLFkk ds vUrxZr etnwjh dk Hkqxrku dk;Z dh 

ek=k ds vuqlkj fd;k tkrk gSA 

7. The cost which varies directly in proportion with 

volume of output or production is known as ............. . 

og ykxr tks mRiknu ;k mRiknu dh ek=k ds vuqikr ls 

cnyrh gS 
----------------------------

 dgykrh gSA 

8. Basic methods of costing are job costing and ............. 

costing. 

dk;Z ykxr vkSj 
----------------------------

 ykxr] ykxr dh cqfu;knh 

fof/k;k¡ gSaA 
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9. A cost which does not involve any cash outflow is 

called as ................ . 

ykxr ftlesa dksbZ Hkh jksdM+ cfgokZg ugha gksrk gS mls 
----------------

------------
 dgrs gSaA 

10. Remuneration is the ............... for labour and service. 

ikfjJfed Je vkSj lsok dk 
----------------------------

 gSA 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

S–114  50


